# MLA EXPENSE CLAIM

# LIVING ALLOWANCE

M.L.A. NAM	AME KELLY BINDLE		_ DATE PREPARED	ATE PREPARED		ne Florest	
FOR THE C	CONSTITUENCY	OF _THOMPSON			11.15	1 a m 0047	
	Aut			JUN	0 7 2017		
Date (M/D)	VENDOR	DESCRIPTION OF PURCHASE	For the month of	For the month of		For the month of	
		*					
				27 N			
			\$	\$		\$	
			Totals:		\$		
	Au	thorized Living Expenses	L				
Date (M/D)	VENDOR	DESCRIPTION OF PURCHASE	For the month of MAY 2017	For the month of June 2017		For the month of	
05/1-6	2 days @	34.40/pm	68.80-				
05/7-13	5 days @	34.40/pay	172.00				
05/14-20	-	234.40/BA	137.60				
05/21-27	3 days	@ 34.40/pay	103.20				
05/28-31	3 days	@ 34,40/BAY	103,20				
05/03	WALMARY 1	SHOWER HOOKS, RASPIC CURTON	39.49.				
06/1-3	3 days @	34,40/pm	, , , , , , , , , , , , , , , , , , , ,	103.			
06/4-10	6 days a	34.40 / pm		206		B.1	
06/06	MARION CLE	wers 1 DRYCHAMING	624.29	73.9			
			\$ 584,80	\$ 383	325	\$	
			Totals:		\$96	68,35	
		Г				100   0	
<u></u>			Total Residence Expense	\$ 1007.84			
<u> </u>			Total Living Expenses	\$ 0	\$ 968.35		
<u> </u>			TOTAL EXPENSES C	LAIMED	\$ 11	007.84	



# **MLA EXPENSE CLAIM**

### LIVING ALLOWANCE

M.L.A. NAM	E <u>K</u>	ELLY BINDLE	DATE PREPARED	TUNE	141	2017	
FOR THE CONSTITUENCY OFTHOMPSON				JUN 1 4 2017			
	Aut	thorized Temporary Residence Expenses	***				
Date (M/D)	VENDOR	DESCRIPTION OF PURCHASE	For the month of	For the month of		For the month of	
			\$	\$		\$	
			Totals:	\$			
	Au	thorized Living Expenses					
Date (M/D)	VENDOR	DESCRIPTION OF PURCHASE	For the month of Tune 217	For the month of		For the month of	
06/10-17	6 days	@ 34.40	206.40				
06/13	MINDER PIN	ier armeny facient m	h 1.00	-			
06/09	walmost	1 CURTAN ROD & Z BLINDS.	144,54				
Y Today	MANADO + A 7	TONIAL Allows and claim	\$ 35094	\$		\$	
* Transpersed to Trave   Allowance daim			Totals:			350.94	
Tot			Total Residence Expense				
Tota			Total Living Expenses	Living Expenses \$ 3CA 94			

**TOTAL EXPENSES CLAIMED** 

1,0**6**0.00

\$

**TOTAL EXPENSES CLAIMED** 



# **MLA EXPENSE CLAIM**

## LIVING ALLOWANCE

M.L.A. NAN	/IE Kelly Bind	dle	DATE	PREPARED	July 1, 20	)17	
FOR THE (	CONSTITUENCY	OF Thompson					
		thorized Temporary Residence Expenses					
Date (M/D)	VENDOR	DESCRIPTION OF PURCHASE		or the month	For the month of		For the month of
7/1	EDISON PROP	ERTIES - July Rent		\$1,0 <b>6</b> 0.00			
	PAY DIRECT						
			\$	1,0 <b>6</b> 0.00	\$		\$
			Τ	otals:		\$	1,0 <b>6</b> 0.00
Date	VENDOR	thorized Living Expenses	T F	or the month	For the	month	For the month
(M/D)	VENDOR	DESCRIPTION OF PURCHASE		of	of		of
			\$		\$		
					) \$		\$
		Te	otals:		\$	A	
			Total Res	sidence Expense	es	\$	1,0 <b>6</b> 0.00
				Total Living Expenses \$			



# **MLA EXPENSE CLAIM**

# LIVING ALLOWANCE

M.L.A. NAM	E KELL	1 BINDZE	_ DATE PREPARED	JUNE	23	12017
FOR THE CONSTITUENCY OF THOMPSON			JUN 2 2 2017			
processors recommended and recommend with the second	Aut	horized Temporary Residence Expenses				
Date (M/D)	VENDOR	DESCRIPTION OF PURCHASE	For the month of	For the month of		For the month of
					<del>LOSSER LOSSE</del>	
			\$	\$	\$	
	Au	thorized Living Expenses				
Date (M/D)	VENDOR	DESCRIPTION OF PURCHASE	For the month of TVW 2017	For the month of		For the month of
06/18-24		e 34.40/pm	20640		`	
	- 1	meals				b
P4-9/8-9111 (MAP 1041 P4-104-104-104-104-104-104-104-104-104-10						
			36.51			
kon a manada da manada manada manada da kanada da manada da manada da manada da kanada da kanada da kanada da k			\$ 206.40	\$		\$
			Totals:		\$ 36	.51
	Total Residence Expenses \$ 26.51					

Total Living Expenses

TOTAL EXPENSES CLAIMED